oS 2" eA /BAC = 90°0°]1,
BCLAHO|t} /CAH = x2 & o], tanx
o] grg Ffedel.

D L
=%







® OA=0C
® CN =BM

® AM = OM

&7

@ AM =BM

~ IR
@ 5.0ptAB = 5.0ptCD



@ 53 cm

@ 56 cm

2ol 99 0 7} PA, PB °
o, oPAOB 2] Eg|9] 4

@ 54 cm

® 57 ecm

@ 55 cm



5.

& 189 9 0olA x o AolE Faloiet.




D 3vV3cm
@ 3+v5cm

@ 4vV3cm
® 6vV3cm

® 6vV5cm



oS 139l 9 0 & AB = 10cm
, BC = 8cm , AC = 6cm ©]1L
(C = 90° %1 AZHZEd o A
skl k. WY O 9 ¥tz &9

ZolE?




B

@® 8n @ 12n ® 20x @ 257 ® 36m



9. sin3x=

V2 o1l candx ©) & Tt (3 0° < v < 30°)

5 J=X
=%



10. oF3 I3 2ol /A =90° 91 A4tz o] A A of|A HlEHof >
Aol ¥ H 2 s, AB = 2v3em , AC = Vbem , /BAH =
x, /CAH =y & ], sin? x — 2sin’y o] 722




[e)

=1

11. o

ol

o]

offg

o

o
%0
o
ol
NI

—_—

fe)

FanY
O

alal
iavj

30

®y=

V3x +2

D y=x+2
@y



12, x %] 9] Wt o2 Zho] 450 9l A M} ¢ F}y FOR E
el 55 golrk 12 9 o, o] H4e] y Fwo] A 4 Y ghe

i ajelat
g
o e



13. 45°<A<90° d o, th3 A 5 &2 422

D A 9 go] AA-MS4E sinA, cosA , tanA O P BF
S 7ksth

@ A 9] 3ol AALF cosA O] T F7FokLL, sinA |, tanA 9]
W2 At

® cosA o] G2 1 oJr.

@ A 9] Zkoll TAIGlO] cosA < sinA < tanA ©] JHIT

® tan o] H&7ke 0ol



14. cos(2x+40°) = = & W, tan 6x &) 27 (T, 0° < x < 90° )

@? @ ® 1 @ V3 ® 3



15, AZho] B8 B th5& WEoh= axy+2-5 o @427

Zte sin cos tan
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50° 0.7660 0.6428 1,1918
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